10A

ARoATO95L ((REEEH 10 - 24H)

A X K2 aztkm) x i 4 * =

ARZSH HEHRRSCF ARSSH HERR S5 ARSSA HRBRECA ARSTH HEHRRSCF ARSSH HERR S5 ARSSA HRBRECA ARSTH HEHRRSCF
9:30
. BuEE
1000 3460 -3 305 v RBIFR r—JYvyg 13Lb>45 R IR4E
10:15 10:00~10:50 10:00~10:45 10:00~10:45 IHoYHgAX 10:00~10:45 10:00~10:45
10:30 yumie HEAR (B) = 10:16~11:156 10:00~11:00 [2E:1¢;) FoXRE- R R
1045 b1 3 R (MRERLT)
1100 ;MHTH/ALT Z21345 HSFALTFFUR *ER14%8 -7 AT (HR)
11:15 11:00~12:00 11:00~11:45 11:00~11:45 Ev:} 11:00~12:00 FLA4In—k) BE - R EERS—IL
11:30 RRA & BEGHIRAS 11:16~12:15 SACHIE 10:30~11:45 LIRA
11:45 AT FRLIFORRETT 11:30~12:15 MEGUMI (€}
1200 RFAT 59945 ERE(KX) - 11:15~12:45
1215 [ FN—FI52H45 12:00~12:45
12:30 12:16~13:00 FERRE (#) RT1180F45 RTF4Tv L TN—FTSRk RTF180F
1245 =R X 12:30~13:156 12:30~13:30 12:30~13:30 12:30~13:30
1300 *EA25% U THENES HEARI(K) Ak B3 i
13:15 RILETS W—o—Fyby *EH28% *ER26% XER28%
1330 13:16~14:00 13:16~14:165 &34
1345 =’ MEGUMI 13:30~14:30 RFEATEY
1400 SACHE 13:45~14:45
14:15 AFahNI—H 14:00~15:00 AFahna—H AFqhNA—H 14:00~15:00 fEAR (#)
14:30 14:16~15:15 L ] TLAITNn—k 14:16~16:15 14:16~15:15 TLATn—+
1445 Skt 14:30~16:15 (FH I—HmEL IR [C€CE5))
15:00 -7 N FYXLOR(FH) TaorFREDIRO VLY
15:15 UNER&ELLT) TLAIn—t
1530 15:00~16:00 18:00~18:45
1545
16:00 BILRTS
16:15 16:00~16:45
16:30 =i
1845 *ER14%8
1700 FYXALI(FH) r—JYvyg 13Lb4s
17:15 (MEELLT) IHYH1X45 17:00~17:45
17:30 17:00~17:45 o XMl - B FYXFOR(ER) | RE-HMBERI—)L | 17:00~17:45 IR (3R)
1745 o KPR M (NEELT) UDEELLT) (NEELT) SRR
18:00 (INRELTF) WBREF (FH) 17:30~18:30 B (FEH) RF4T72Y
18:15 M (HH) (P95 M38) 17:30~18:30 18:00~19:00
1830 00~18 17:45~19:00 17:30~18:45 E: 3] - WM R—L
18:45 a8 TSOUTU R
19:00 FL4Fn—"r)
19:15 9:00~20:00 RILRTS [ 71 IN—TI5Ar45 "8
19:30 L E 19:16~20:00 L 19:16~20:00 19:16~20:00 - 18:30~20:00
1945 =iR BIER (3R) EAR (88
2000 *EE25%
20:15 RTF1T7EYY S Ev:) K ISUTIEST(R Vo qH
2030 | 20:16~21:15 0~20 20:16~21:15 0~20 20:16~21:15 B - RS 0 9:30~20
2045 p: 271] F3(H) F 2 i £
2100 F e *ER124 EH28% g N7 WA 1048 s -
21:15 A i sy 12
21:30 TN—FITS5Rk RFAFEVY 0:30 00 =
2145 g2 0 0 21:30~22:30 : 21:30~22:30 0 0 B = kS A | s 20y
20 00 v =& 00 A (F%) & 00 0
2215 EE28% *EH25%
22.30 ¢ EIAADLELYRS E Ay Y/
2245 5 g Ly
2300
2315
23:30
2345

0:00




